	3TQ
	Calcul littéral
	Exercices 



Formule :

Exercice 3.1


Développer les expressions en respectant les colonnes du tableau :

	(
	a
	+
	b
	)
	(
	c
	+
	d
	)
	=
	a
	c
	+
	a
	d
	+
	b
	c
	+
	b
	d

	(
	x
	+
	Y
	)
	(
	z
	+
	t
	)
	=
	
	
	+
	
	
	+
	
	
	+
	
	

	(
	3
	+
	2
	)
	(
	a
	+
	b
	)
	=
	
	
	+
	
	
	+
	
	
	+
	
	

	(
	x
	+
	3
	)
	(
	t
	+
	v
	)
	=
	
	
	+
	
	
	+
	
	
	+
	
	

	(
	a
	+
	c
	)
	(
	b
	+
	d
	)
	=
	
	
	+
	
	
	+
	
	
	+
	
	

	(
	c
	+
	d
	)
	(
	5
	+
	3
	)
	=
	
	
	+
	
	
	+
	
	
	+
	
	

	(
	x²
	+
	x
	)
	(
	y²
	+
	y
	)
	=
	
	
	+
	
	
	+
	
	
	+
	
	

	(
	a
	+
	x
	)
	(
	b
	+
	y
	)
	=
	
	
	+
	
	
	+
	
	
	+
	
	

	(
	c
	+
	a
	)
	(
	d
	+
	b
	)
	=
	
	
	+
	
	
	+
	
	
	+
	
	


Exercice 3.2 - Développer :

	(x + t)(y + z)
	=
	xy  +  xz  +  ty  +  tz

	(a + x)(b + y)
	=
	...... + ...... + ...... + ......

	(3 + x)(2 + y)
	=
	...... + ...... + ...... + ......

	(x + 6)(y + 4)
	=
	...... + ...... + ...... + ......

	(a + 2)(b + 7)
	=
	...... + ...... + ...... + ......

	(b + a)(d + c)
	=
	...... + ...... + ...... + ......

	(c + d)(a + b)
	=
	...... + ...... + ...... + ......

	(1 + x)(y + 1)
	=
	...... + ...... + ...... + ......

	(x + 2)(x + 3)
	=
	...... + ...... + ...... + ......

	(2x + 1)(x + 5)
	=
	...... + ...... + ...... + ......


Exercice 3.3 - Développer :

	(x + 3)(x – 2)
	=
	x² – 2x + 3x – 6

	(x – 4)(x +1)
	=
	

	(x² + 1)(x + 2)
	=
	

	(5 – x)(-3 – x)
	=
	

	(2a + 4)(3a – 5)
	=
	

	(x² – 3)(-2x + 4)
	=
	

	(3x – 7)(4x² – 1)
	=
	

	(1 + x)(-x + 1)
	=
	

	(3x² – 5)(x + 2)
	=
	

	(-3 + x)(6 – 2x²)
	=
	



Exercice 3.4


Développer puis réduire :
	(x + 3)(x – 2)

= x² – 2x + 3x – 6

= x² + x – 6
	(x – 4)(x + 6)

=

=

	(a – 5)(2a – 7)

=

=
	(4 – x²)(x + 3)

=

=

	(3x – 2)(5x + 1)

=

=
	(4 – 2x)(-1 – 3x)

=

=

	(x + 3)(x + 3)

=

=
	(2 – x)(2 – x)

=

=

	(a + b)(a – b)

=

=
	(x + 6)²

=

=


Exercice 3.5


Développer puis réduire :

	 (4x – 1)(6 – 3x) =

	 (x – 2)(x + 7) + x² =

	 2x² + (x – 4)(3 – x) =

	 x(x –1) – 3(x + 1) =

	 (x + 2)(-x –3) + 3x² =



































































































































